z MITSUBISHI
ELECTRIC

b o I R A R

INVERTER ﬁ
ENEVERITEE= z
Instruction Manual %
!

DCly) oo b

DC REACTOR

FR-HEL-0.4K~110K
FR-HEL-H0.4K ~ H355K

ENGLISH



DRV, ZEBEARA > N-2AT a8 ZRAVELE BICHINESITEVET,
COBRFAE IR, JEAVEZBEORRV., BESAICOVWTGERTH) ET, B BHRVIEE
HOAEEEF|ERILETOT, ZEAMCLT COREIAEE—FIh, ELS ZERCEZSW
FTEOBBVNLELET,

GH, ARERBAERE. JERICEISEROFTICBS LS CBBESBEVVWAELET,

'—l—| SN

T2 EDFE
BT, BEE, RF - SROBICDTZORMHBEE ZONBEEEEINTHZEL, ELL ZEA
AV, BBOME. RE2DIFHRZ L TEBEFEOIATUIDOVWTERL T, S ZFEAL LSV,
COBIRHEAE TIX. BE2EIBEENDI 7% (Bl FEIELTIRALTHNET,

A fe—llgﬁ BIRWERE S -GS, BRERKRPEIW AT RTELEEFEZ T 3PIEEMED

HBEIN 358,
3=
MNFEE

BE[AZE |CRBUABAETS, KRS > TREAGBRICEV O TRMI SV ET, VT
NOBBARBERBLTVETOTBTTF>TCREL,

PRV ER - LIBEIC, BREKRAPEI AT, PREEDOEEXEE £ Z 1 504
EHABESNZBES SUMNIBREL FOREPBES N 355,

3. BEMLEDHIC
MAFE B
OF T IC I BURBEAE ICRD 5 h = BELIS

BHIIML EWTL 230, R - HBEED
FERICH N ET,

BLICHBFNWNELEL DI
1. BRERLEDADIC

AfE B

Q@EEHNR AT a DEFANIN—%4SE
WTLEEW, ¥/, WFEHIN—ZH LT
RETEHZLAVWTL LIV, SBEDKT
BLUREBHFBHLTVETOTCRENR
EichnEd,

.?ﬁﬁ%%ﬁﬁmﬁﬁ@ﬁﬁ%ﬁﬁ11<ﬁ

[T

Q@1 N—AXFEERAMFITHLSEIEL TL
280, BE. BEOREREICEY T,

Q@ENLFETATIailhiy, ¥—T I
MBOKZELELEWVWTLCESW, BREDE
HeEerVET,

@7 —JINIEED A, EBELI LI ED
7z, EVWbDOEH LY, FEARAALY
LBEWTL SV, BREDERAICEN XY,

ORIRIEERL SR, 1> N—2FLIFI>
IN— RN IVDRRDPET L= & &1
BL. BREEMEZ102UERBLAEDSIC,
TRAAEETEEEBRBL TP ST-oTL
TV, BREEMLABLIES COBIIEO>
FUHHPEETREINTVWIERTY,

@400VD 77 MLid, ENRIBISEEST 315
A, PEREBIWAZBERCERALTCER
LYo

Q@F FHEMEBMEZLVWTLLE SV, KA -
BEEDRRICHEY £,

@M (+. —) EEBALVTL AV, B
2 -HIROERICEY T,

QEAEFXE BrEOLIES <O, £ 7
A BEBICE-STVWETOTHSHEWNT

FEEWV, KIEDERICHD £,

2. MKBLED =0 (Z

MAFE E

OFTT = ls, AT
U, BTN DI B & ORI <
OB, KEDFERICHED T,

A-1



4, FEEEE
ROZABBBEIZOVWTH+HE
WERBRSZIBAICIEROBEE -
DERELDZEDPHY)ET,

(1) & - \FFISONT

BCEEL, TR
CBELE

(2) AEERFEICONT

AFE B

MAFE E

Q@EHZANCE/INT A —2DWER - AEET-T
<tém IS L > T FHe Bz L
BENrHYET,

QERNDESIICUTELWAETEML TL
EEW, UHWORERICENET, HICIy D
DEAICIEFEBEL T LI,

@B, MRV HPIFTWVWEF T3> 2BAM
. BEQLEVWTLEI L,

QURDEIIFESNEVWHDEH L HWTL
7220,

@HUT Hﬁr‘-ﬂt;%fﬁ?*) <&V,

QA7 a3 AMICEKY - EBREEDEEM
EMRimG EQTREEMPRALEVL S
ICLTLEE W,

OARF T3 L IIEEHBTTINT, BT ¥
oW, BMOWEBESZAVEIICLTLEL
k,\

@ TEDBRESFMGTCIEACEZE V., HEHE
ODEREREICEYET,

E3lEN —10C~+ )
R E (;ﬁﬁ%%t;k,\sgg)
EERE 90%RHLLTF

BEEOEWIE)
—20C~+65C  *1
BN (BEMEHX. 5| KEH

B RERE

B RER 2 AAIWIZAN - ChdW
DHENZ E)
3000mELTF
125 - K8 |5.9m/s2 LI F10 ~55Hz (X,
Y, Z&FHM) *2
*1 BXEBLEOERBICERTE2E8E
T9,

*210mm%iié SICEEBE T 31545.
500m Z &1 3% (DE% B AR B i
ETY,

OARHBTMDIEE - BRBEMED AKEICE
FhENOFCRME (7 vER BER BER.
AIREE ) PBEHBURBICEAT S EHED
ERELRYET, HBOEIE, ZELECA
ERAPEHBBIBRALEVEL I ITEET
3. ARSI OFE (BB &) TiHS-
RReRAdSEE LT &L,

HH, AERIMOMEE - BRRSFEBIE
ICEBL TN,

@RS IS A IXhy 2—LELEERT 25
Sk, WETHPELEVWE S ICREFHE
BRHLTLEZ N,

QHFIBRLIEDZEEFEIL B H L&,

QOBEAMIBICUT I MILEZETEETIHI %
LEVWEIFEEL T I,

QU7 MIOEEBICHAICTHA S 2EICHE

(3) EARAEICONWT

A\fE g

Q@ULERTHHEVTZE L,

OBUREFAE ICRHE O & WERE LITRISTT
HHEWTLLES W, HEPFEORRICLY)
L

(4) BEZEIZCDWT

3 o=
MNFE B

Q@EXREEME L TREL T 2T,

(5) —fMREYER

ABIRHBAZICEREH S W TWBA L TOXEE.
S EHEAT B -0ICHN—F - FERED -
HOERTH I 1E T L RETHIANA TV
BBAPHNETDOT, BT 5 EBTH
EEHWDHN—PERMETE S VWICEL.

AT TLIEE L,

BAREREAE ICIE > TEBR L T 280y,

JAPANESE



B X

T BIERDEERR o 2
2 HE AT U e 3
B B R e 4
4 BIRYT A R EETBIRT oo 5
B L R e 7
B FMITTTIEB oo 8
FER e 20



— BB DR
1 WIOESD

(D WBBHESATY3VIZY FZBMYBL, TEXESYDRRTH
BN FIBEDBODLOESRZ L TZES 0,

MITSUBISHI DC REACTOR

ELECTRIC . *1 400VHSR(1E
woper,  FR-HEL-[JIK BKO-CAXXXXHXX *1 SEDHBUFT,
DCXXXV (max) XXXA XXXmH
SERTAL
MITSUBISHI ELECTRIC CORPORATION _ MADE_TN XXXXX

——— > FR-HEL- H [ L K

— BAT—4BBCW)
ES [ ERBREE
AL[200V55 2
H_[400V552
x2 EBBER FETE1VN—20HT P EHINOBIRNSBABETHY. OU
PO (3 PBLORT P ICDNSNSBETEDY & A
*3 SERIAL (3. EIERS. Bf WA, BEBESTENSNTLE T, SERAL OER
BRBICEURBUE T, LIFORRADN AL > THRBL T L0
- ZA1 (FR-HEL-0.4K~55K, FR-HEL-HO0.4K~H55K)
Q0 00 O QOO0
EHEELS & B BEES
SERAL(#5ES )

REFF. BBOKRE2#. BERE 1~9 (B). X (10RA). Y (11 A, Z (12R) TXRL
N

JAPANESE

- FRAI2 (FR-HEL-75K~ 110K, FR-HEL-H75K ~H355K)
00 00 0-000
£ B ®BEs
SERIAL( Hi5ES )

BEF(F. ABORE 2. BEAE 01~12 (1 B~128) THRLE T,

(2) BB@RNINTH>TLWBE I Ex=HRL T IZS,

_ BIEAN ... 118
bCU7H HU(FR*HEH@ (200V 5 SR 15KIUTF,  |EERSHBEZ ... 18

400V & 5 Z56KIAF) *
% 200V O 3R IBKLUFOMFBHN—EHIBICRUMT THY T,




8 1 17 AN
2 &

() IRN=IDBBICKE> T FROLDICHBELTL IS, IBEABL
STRUMNTIZBE. U770 RIVOEEBRRERY £,
- (H)B5K AR @ KE@ES S, F(EEETEMSH
- (H)75K AL @ KEBEMS

(2) BAERENABE (—10C~+560TC) #BARBVELDICLTL IS
W Ffoo UPHORLBERBALFZTIDT, BEDODRN—R%ZE+57(C
BIRLTLIZSWe (UPHORIVERHABICERE<EBAG 10cm
DAk, KEEGLemIAL)

o>
5emi E

3) UPH R IVEBAMT BEA B £ - REUET 51981, BITBAN
BRSO DB DRSS S5+ HERL T 1,



= B

3 @& #%

(1) A N=ROMHF P-P1BOREHAZMUSNSL T, P-PIBEICUFPO K
WEfEmLE T

- UPORWEAYN-RBEDOEFRE. SMUTICESLD. BHie<E
BLTLICSLo (BASHRY A XF5N—2 22RLTIICSL)

- AVUN=ROEF PI-PEICHEKSN TOBDRBAELITHIL TS
Lo SN EU PO RVDBRDFEBSNE Ao

- BB CmY 5NN =% MUSML THSEBRIEREZ 1T > T<ICSW, B
WY mFENN—ZRUNTTIICSO, (200V 55X 185K
£, 400VOSRT7EKPUEICHRFEIEHDY & B Ao )

mFPI-PRICIRIBED 1 O L -
HIMEIL. AT EHEIRIIONLLI T &
RUSLTSIZE L, ECEELELE J ] LT EEL,
A
—X o ——OR/LI
©8/L2

HELARBR —PL o

—p it ©T/L3

L YN—&

(2) BRTAHIE—RBEBILEDOLETEELTLIZSV e (AUN-E2FED
EABEBLULKREVEED, E—ABECEHOETEELET.)
0AKWRBOE—RDFEEIE. 0.AKWAREZEELE T,
BHERANDHEEE. E—RBEDI1SVHLEOUPH R EE
LT<L<IEEe

Q) #HmyY % (ERBRSIOEBH TV XICDVTIFEX—=Y | #
WimFOUEFE N—Y 2Z2RL T ICSO)FEARL THERICHEBL
T<fZEe o

x B
1. BRRTRICHEFEAN-DPERICRIMITSATVS Z & 2R
LTS,

BERS S OEGFOERBRIEERTHENT S0,
ERRER IS EFMIORMEN T > T LS L,

12N=2DiHFP1. P NIZIE, SEEPHMEATHETOT
EARDERIE. ANEBRNPOFFEhTHY ., »DHFP-NEOEE
HDCIOVLIT THBZ & &+ DICHER L AL TIT>TL &0,
5. 200V 75 X 185K E. 400V 7 5 X 75K LI, WwmFED HI)
Tt Ao

TR EMLAVE S, BRLIEEEREL T LTV,

H N

JAPANESE



BIRY 1 X EERHBF X

4 BRYIXEEERT

mF P, P1PHEMBOERICOVTIE, 4 Vv-2 2R TIIZS0,
( ) 200VH SR

P, P1 AR
HIV 43 L
FROELIK w7 | BID ) EE | x| awe | mz | ROY 2R ) %
FAX| Nom | BT (nlmzz) ¥ A Nm | BT om)
*2
04~22 |M4 15 2-4 2 14 M4x8 |15 2-4 |2
3.7 M4 15 56-4 |35 12 M4x8 |15 55-4 |35
55 M4 15 56-4 |55 10 M4x8 |15 55-4 |55
75 M5 25 14-6 14 6 M4x8 |15 55-4 |55
11 M6 38 14-6 14 6 M6x12 |38 86 |8
15 M6 38 22-6 22 4 MEx12 {38 14-6 114
185 M8 1321 |38-8 |38 2 MEx12 |38 14-6 114
22 M10  [265%1 [38-10 |38 2 M6x12 |38 22-6 |22
30 M10  [265x1 [60-10 |60 1/0 M6x12 |38 22-6 |22
37 M10  |265%1 |80-10 |80 3/0 M6x12 |38 22-6 |22
45, 55 M12  [46.1%1 |100-12 100 4/0 M6x12 |38 38-6 |38
75 M12 4611 [160-12 [125 250 M6 44 386 |38
90 M12 4611 [150-12 [150 300 M6 44 386 |38
110 M12  [46.0%1 [100-12 |2x100 |2x4/0 |M6 44 60-6 |60

* 1 BEXDL6 HFRRIOENT FIVHE(EEE) TY, BT HILVHEERT BRI (R
R DHBEICEETIEE W,

*¥2 EERearoonE 70 COSE®R (HIV &) 600V —BEZIBBSER) &) DY X
T, ABREL0 CLUT. BiRERtE20m LITFABELTOET,

*3 EHBESHBEE?S COTER (THHW T8) OY 1 XTT., BEEE4L0 CIUT. &R
BHE20m UTFAEBELTOWE T, (PRAUNDEREFICEHF I TERITIBEE
Appendix 1 UL,cUL (CDVWTDEEBEABRL TIIZS0.)

(2) 400VH >R

s [Pl FEHAR
+ HIV %ﬁ( G et %I%,é
A4 X N-m !ﬁ% (nlmz) VP N-m !ﬁ% (mmg)
* 2
04 M35 |1.2 2-35 |2 M4x8 |15 2-b 2
075~22 |M35 |1.2 2-35 |2 M4x8 |15 -4 |2
3.7 M4 |15 2-4 2 M4x8 |15 -4 |2
556, 75 M4 |15 55-4 |35 M5Xx 10|25 55-6 |35
11 M5 |25 55-6 |55 M5x101(25 555 |55
15 M6 |44 8-6 8 M5Xx 10|25 555 |55
185 M6 |44 14-6 14 M5Xx 10|25 8-b 8
22. 30 M6 |44 22-6 22 M5x10]25 145 |14
37 M8 |78 22-8 22 M5Xx10|2.5 145 |14




—— Y 1 X EERT

P, P1 EHAR
- HIV
KAl N-.m ¥ (nlnf) EA N-m Lk (mm?)
* 2
45 M8 |78 38-8 38 M5x101(25 22-5 |22
55 M8 |78 60-8 60 M6x1213.8 22-6 |22
75 M12 146.1%1|60-12 |60 M6 44 226 |22
90 M12 146.1%1|80-12 |80 M6 44 226 |22 L
110 M12 146.1%1|80-12 |80 M6 44 226 |22 ()]
132 M12 146.1%1]100-12 {100 M8 7.8 38-6 |38 L
160 M12 146.1%1]150-12 {150 M8 7.8 38-6 |38 2
185 M12 146.1x%1]150-12 {150 M8 7.8 38-6 |38 <
220 M12 146.1%1|100-12 |2%x100 |M8 7.8 60-6 |60 [}
250 M12 |46.1%1|125-12 |2%x125 |M8 7.8 60-8 |60 <
280 M16 |110%1 |125-16 |2%x125 |M8 7.8 60-8 |60 )
315 M16 |110%1 |150-16 |2x 1560 |M8 7.8 60-8 |60
365 M16 |110%1 |200-16 |2%x200 |M8 7.8 100-8 {100

* 1 BERXDA6 BERIOHAT FIVOE(EEE) TT. LT RUVOEERAT DR (RIV
) DEREICEETIIZSL,

*2 ERRSITEE 75 COER (HIV iR (600V —BEZUEESER) &) OY-X
TY. BEREL0 TIUF. E#Reat(d20m TFZRELTOE T,



1t

# AN

)

Tt

PEBEMR *1 | BRHE  #993%(94.4%) (100%87:6)

200V& SR |3BAC 200~240V 50Hz/60Hz
BRIk 55KIUR |31BAC  380~480V 50Hz/60Hz

A0OVZZ 2 [7BKIIE [318AC_380~500V_50H2/60Hz

IR
b2 3

BEREE |-10C~+50C CRIBDTOI &)

BEEE |90%RHIMUT (HEOBOIE)

REaE |[-20C~+65T (RN &)

FER |BA BEUEAR SIMEAR - AAUVIR S CABLOBOI L)

s= . =gn |3000MMT - 5.9m /s2UT*2, 10~65Hz (X, Y, Z&%
=I=) *&gjj [‘[‘U)

%1

%2

NEF, BRAVE-AFVRZ 1 BEEARKOETT, BREE. BRIVE—FVRIC
KO THERZEELF T BE JEM-TR20T ICREDEARBERZ 100%ELTOET,
BLXBEHEOAHBRTSREMHE (BIRHEIER) LA FERICEDEELRR
DHE= 1 ELTHELIBEIR>94.4% TT,

04KWHRBDE—RDBEE. NEHEVDRHIET FOUE T,

SRERANDEEE. NDERBHDRIBFTFOYE T,

1000m ZBA FEBICHRE T 5156, 500m C&IC3% DEBBRERIVLETT,




= ST £
6 S TER

(1) 200VH5 2R
OFR-HEL-0.4K~2.2K

Bffta UM4
[mmui} ]
| |
) P P1IEIKD L
ol N
)
¥ LUM4 ET |.|J
i Max8 MaxD *1 Z
W <
e ey &
-
|z
~ |z
T
{1 (mm)
E—4RE | ERERME | 1>47%2>X| D 2
FR-HEL-[]K KW) iy (mH) 41| D1 | W Wl H|H | H2 ke)
0.4 0.4 2.1 13.7 61 (28 [70 |60 [71 |61 |48 0.34
0.75 0.75 3.6 8.05 61 28 |85 |74 |81 |71 |89 0.5
15 15 7.3 4.01 70 |33 [85 |74 [81 |71 |59 0.7
2.2 2.2 10.5 2.78 70 |33 |85 |74 [81 |71 |59 0.8

*1 BRAPECTT. (BROBIFICKUTENE(ELET.)



A AN

OFR-HEL-3.7K, 5.5K

€] €]
@ @ @
- biaxt
¥ RaLMA ;@mmmm”@:
\—//ﬁ Max D #1
D1
P ]
= — =
o—— 0 G|
© o) £
76
‘ 55
LI
it M4 }L
1 88
ﬁ\[ ﬂ/%
817 (mm)
E—4FE | ERERME|1>4v4>2| D BE
FR-HEL-[1K (kW) ) ) «q | D1|D2| D3 kg)
3.7 3.7 17 1.7 82 39 (66 |56 1.4
55 55 25 1.16 92 44 |76 |66 1.7

*1 BRAPETT. (BROBIFICEYUTEDNZELET )



—— o
OFR-HEL-7.5K
BT
M4x8
iy AAUMS =
Max 98 =1
42
) g = =
@ — o
] ] kil
86
60
UL
g LM4 B i
L fh v
- 87 (mm)
E-—4238E EIRERE | (4742 B8
(kW) (A) (mH) (k)
75 33.4 0.86 2.3

*1 BATETY.

BROBITIC &L UTENELLET )

10

JAPANESE



S T A

O@FR-HEL-1

¥R LME

K. 18K

fisiches
M6 x12

M
Bgia M6 : ‘ ‘

Max D 1

101

H1

H
—1

1056

D3
D2

847 (mm)

E-42%8

FR-HEL-[IK (kW)

ERERE| (>4 78>Z| D D1
(A) (mH) * 1

D2

D3

H1

=
2

(ke)

" "

48.1 0.6 112 |47

92

78

138

118

3.1

15 15

64.7 0.45 115 149

97

83

142

120

3.8

*1 BRKPETT,

117

BROBH ICKUTENELLE T,

)




= S
OFR-HEL-18.5K~556K
v N
L]
1
i
M6 X% 12 L
Max D *1
Max D1 *1 (D
- B:I %
T <
®
=) © 2] &
-
[ \:\
Effta M6
i o
L i
W1 N
W 847 (mm)
E-4BFE|ERERE| 14742 >Z| D | D1 s &
FR-HEL-[1K W) 7N (mH) £1|%1|D2| D3| W |WlI| H |E#ET k8)
18.5 18.5 79.9 0.36 165|110 [107 [93 |105 (64 [93 [R22-8 |4.1
22 22 95.1 0.3 175 (115 [117 [103 [105 |64 [93 |R22-10 |4.8
30 30 128.4 0.23 200 [135 125|100 [114 |72 100 |R60-10 |6.7
37 37 157.4 0.19 195 (135 (115 (97 [133186 |117 |R60-10 (8.1
45 45 189.5 0.15 205 (140|125 (107 [133 |86 |117 |R100-12]9.4
55 55 232.6 0.13 209 |140 1135 121 [1563 [126 |132 [R100-12 |11

*1 BRAPECTT. (BROBIFICKUTENE(ELET.)

12



S T A

OFR-HEL-75K~110K

2—F
(M12RIURR)
P P1
|
P Ry OP:':
XN &
I — @\
D C {ad 1
\ \\;Vv1 \ EHiRF M6 Max D #1 4 (mm)
E-—2BE|ERERME| 1> F7542 2 D |Iftiy|EE
FRHELIK| ™ ) ) (mH) WIWLLH I H S 12 k)
75 75 351 0.09 150 (130 |340 |310 (190 |M6 17
90 90 419 0.075 150 (130 |340 |310 (200 |M6 19
110 110 510 0.062 175 (150 |400 |365 [200|M8 |20
¥ 1 BATETY, (EBROBFICKYTTENEILLLET.)
(2) 400V =R
O®FR-HEL-HO.4K
a‘wt ;
i
BAFRIME
Eibiny
HFRIM35 M4x8
75
— Max 60 1
29
EEE
[l )
f jany|
847 (mm)
E—42FE | ERERE| 124742 | EE
(kW) (A) (mH) (kg)
04 09 54.45 06

* 1

13

BAPTETT. (BROBIFICIUTENE(ELET.)



= S

@FR-HEL-HO.75K~H2.2K

BfFRIMA

EiiEy
M4x8
7
HFEIM35 ax D *
50 — Max D *1 m
2
 haas <
Fe = o
o) o) p SJ
© © j;@

817 (mm)
T 4RE| ERERE | (240522 D 58
FR-HEL-H[]K (kW) ) (mH) %1 D1 [D2| D3 | W H H1 | H2 ke
0.75 0.75 0.9 54.45 70 |33 |68 |48 |66 [100(87 |75 |0.85
15 15 1.6 32.19 80 (36 |74 |54 |66 [100(87 |75 [1.0
2.2 2.2 3.1 16.04 80 (38 |74 |54 |76 [110]97 [85 [1.3

*1 BRATECYT, (BROBIFICKUPENELLET,)

14



A AN

OFR-HEL-H3.7K~H7.5K

BfNERY

EHHT
W1 WIHIMA Max D *1
W D1
—
£ ~ s
e o ol — P
% o T ! !
=i ] D
847 (mm)
E-% | EE . . .
= | o= 124942 D Wt EH |EE
HEL- 7= A SR =
FR-HEL-H[IK (‘:ﬁ) E&ﬁ;._ (mH) w1|D1[D2[D3fW Wil H | HI | H2 | 0T e o
3.7 3.7 7.1 6.79 95 |39 (89 6986 (55 |128 |114 (94 |M4 M4x8 (2.3
55 55 105 |4.62 100[44 |95 [75(96 (60 136|122 [102|M5  [M5%10 (3.0
75 75 14 |3.45 105[47 |100(80(96 |60 [136 [122 [102|M5  [M5Ex10 (3.5

*1 BATETT. (BROBFICKUTENE(LLET )

15




= S

OFR-HEL-H11K

BT RIMS
Ve
|
@] el @ 9|8
2 ] -
&
sl © BT
ﬁ%“—‘-—ﬂ il M5x10
¥ RIM5
5 Max110 _*1
105

JAPANESE

lal g
[ F

i
TSR | ERERE | 28750 ] o 847 (mm)
(kW) (A) (mH) .
1 20.4 2.38 45

*1 BATECTT. (BROBAICLUYTEDNELLET.)

16



S T A

O@FR-HEL-H15K~H55K

YR

B RY

Eihin

=}
o
A —
o e
© ©
87 (mm)
2| B | ann s =
= 1 48948>Z| D WEF| R B |EE
-HEL P Fefl N bl (el
FR-HEL-H[IK (iﬁ) E(iﬁ)ﬁ_ {mH) % 1|DT[D2| D3| W |W1| H | HI | H2 27175 %7 | ke)
15 15 275 |1.77 125[67 [115]95 [105(75 [152 (130|111 [M6 [M5 [M5x10 [5
18.5 185 (339 [1.44 12055 [100[80 [1141]75 [162[140]121 [M6 [M5 [M5x10[5
22 22 403 [1.21 120(55 |95 |75 |133(90 |180|157 [137 |M6 [M5  |M5X10 (6
30 30 55 0.9 12058 [100]80 [133]90 [180 (157|137 [M6 [M5 [M5x10 (6.5
37 37 675 ]0.73 155170 {120]100 (133190 (184|161 [137 [M8 |[M5 [M5x10 (8.5
45 45 81.9 [0.6 170[71 [130]110[133]90 [184 [161 [137 [M8 [M5 [M5x10 |10
55 55 98.7 [0.49 170(65 |126(106 (152 105|203 [180 [156 [M8 [M6  [M6x12 [11.5
*1 RATETT, (BROBFICKYTEDERIELET,)

17




—— ST EE
OFR-HEL-H75K, HI90K
(M12:K)L hF)
N
Y|
P1.P
L
= —
: P
BT % IM6 lad | <
Max D *1 !$1_._ Q
T M6 iz (mm) S’
E-4BE |ERERE| 147422 D HE
FR-HEL-H[]K (kW) () (mH) w Wi1 H H1 %1 (ke)
75 75 160 0.359 140 [120 |320 [295 |185 |16
90 90 191 0.3 150 {130 |340 ({310 |190 (20
*1 BATETT, (BROBFICLVUTENBILLET,)
OFR-HEL-H110K~H185K
2-1f¥
(M12R)V ~B)
Ble o8
P1 P1
T
T
P P
On=
‘ ‘ oy
© ‘ ° ((f‘ alt | B Ry
W1
W Max D *1 |
SHWTME 847 (mm)
E—42FE |ERERE| 14782 X D |mfi| HE
FR-HEL-H[IK (kW) @A) i wwEH L HT Y e
110 110 233 0.246 1501130|340 (310|195 |m6 |22
132 132 281 0.204 17511501405 (370 {200 (M8 |26
160 160 335 0.171 17511501405 370 {205 (M8 |28
185 185 389 0.148 1751150405 370 |240 |M8 |29
¥ 1 BRAXTETY., (BROBFICKUTEDEILLET.)

18



S T A

@FR-HEL-H220K~H280K

il

(]

2-SmYFvhkx*

2 —iF (R )

il

@ =

LY

e

RFRY

W1
W

MAX D *1

Hitiny
* MUY FRBREMFE. MUSLTIZE0,

847 (mm)

FR-HEI

E-4288

L-H[IK (kW)

EARBE
()

(mH)

122752

W W1 | H

D

H1 | 5

EH
wF

=2

(ke)

220

220

462

0.124

176150 [405

370 (240 M6

M6 [M12 [30

250

250

524

0.109

190165 [440

400250 M8

M8 [M12 |35

280

280

585

0.098

190165 [440

400|255 M8

M8 [M16 [38

%1

BATETT. (BROBIFICLYTENELLET.)
OFR-HEL-H315K, H355K

2-MBRYFvh+

<]
[}
2

P1

495

(@21

8
0

BAFRIMIO0

2 ¥

MT6AURER)

ORS

MAX250%*1

EIFFM8
* MUY FERREMFE. MUSLTIIZED

817 (mm)

FR-HEL-H[IK

ET-—4%E8
(kW)

EARE(E
(A)

12E722R
(mH)

HE
(kg)

315

315

658

0.087

42

355

355

742

0.077

46

%1

19

BATETT. (BROBFICIUTENE(LLET.)




{4 5%

178771 UL. cULIZDUL) TD2EHE

1. E—Z2EDHBEDEICDONT
UPORVIEBRE—X

BYE T,

=]

==}

2.4 N—R2EDHEEDLEIZDNT

DCUPHRIVFR-HEL YU —=X(EFHRICTRT U
DETERYREBULREF T3> TY,

(1) 200Vo >R

ICEDETEEL TS IZE 0,
FRATHSE—ARBTEIHLT. UPHLOBTENNSTEDEHNENEL

REA VN—REMAE

BRI —%& FR-HELTK
7)ol I S s
< DD L n
diicoed| & | & | ©
SLIEARS | 2 | S | & |o4lo75/15|22|37|55|75] 11
NQ NN~ = [ing Jo¢]
wN 0w O I 0 |
i |dgee| & | B | &
Ly rreh| o o
L
07K 01K 01K
S - A o A v A v va va va
02K [02K 02K
e o - PES (o o wa A va va wva va
04K [04K 04K [0.75K [04K
030 |05 |00046 |00046 [0030 [© O[O [WA [NVA INAIN/A IN/A
075K[0.75K 075K [15K [0.75K
050 042 |00077 |00077 [oos0 [© O[O [© WA [NAIN/AIN/A
TBK 15K 15K 22K [15K
080 070 |00105 |00105 [ooso [© |© O [© |© [NA|VAIN/A
22K 22K 22K 37K 22K
110 [100  |oo167 [oo1e7|oti0 [© O |© |© [© |© |WANA
37K 37K 37K [65K 37K
175|165 |002s0 |00280 0175 WA O |© |© O O O [VA
55K 556K 55K [75K [BBK
240 238 |00340 (00340 |0240 [VA [VAIO O O[O 1O O
76K [76K  [76K 11K [75K
330 318 |00490 |00490 [0330 [WA WA INAIO O 1O 1O O
TIK |11k |17k [15K_[11K
470 1450 |00630 |00630 |0a70 [VA WA [NAINAIO OO O
6K [15K [16K [185K 15K
600 |580  |00770 |00770 |osao [WA [NVA [NAINAIN/ANO OO
T8BK 22K [T85K
-k T 1220 oas v [wa [ N/a va A o o
P
-k R N B N T N Y Y Y Y S

N/A S L

JAPANESE

20



BT N FR-HELOK
;Z 2 2=z |3
E@ B8 % § 15185 22 | 30 | 37 | 45 | 55
chlgegs| & | € | €
LLE' [T o
550 [st6 |doaoo |oodso|oas0 [0 [WA [WA VA A [wa
170 isb Jookao [ooeaoommo [O [0 WA A [va Jva fwa
80 [580__ |00 [oamrolosoo [0 (O[O A [wa [wa wa
- | |ooso [oossoloaeo |0 [0 O[O |wA wa v
I 5060 [aisoloano O [0 [0 o o |wawa
I Sl Pl le e oo wa
—r 8??370 é?sKwo - |WAIO [© |0 |0 |0 |O
T oo sz [vafvalo o o o o
~ o || [VAvavalo o o o
- ool Iwavalvalvalo o o
- e losol A valva valo o

N/ASZE3 L

W@AT > /N\—% ] FRHEL[K

=5

8% | 8 |75|00|110

if | g

75K 55K

2330 |2z O |© VA

5K 75K

ote0 |o31e0 |© |© |©

7K 90K

03800 |o3so0 [© [© |©

K 110K

04750 |oazs0 |© |© |9
NAZERET

21



(2) 400VH =R
BAAN—2 FR-HEL-HIK
= 259 &2 |22 | =
¢ |EgE| ¢ |£F | €
N S S A N T
o6 0% loooms lomaslows [© [0 [0 [0 wa |wa va jua
o |05 |ooose loselom [0 [0 [0 o o |wa |wa lwa
5 |ow loomes lowsslowo 0 10 [0 o o o |wa |ua
S Jose looros sl VA o o o o o o |wa
7 b loowo loomolom va va jo o o o o o
T |1 Gomo looso oo VA wa wa o o o o o
IS o 1K s v [wa wa [wa jo o o o
% |20 |ooeo |oooaojoaoo VA wa wa wa fwa o o o
- o el va (wa A wa wa wa Jo o
b B P lea A v v fwa fva wa wa o
NAZEED
BRIV N—% FR-HEL-HIK
T EE5s| oz | 52|
u'% g%% éﬁ% %% % 15 | 185 | 22| 30| 37| 45| 55
£ [FgE| 38 |k | ¢
120 1160 |0oss0 oosso o130 [0 WA v va va s fva
5 2% |oosio fooso jozso [0 [0 [wa|valva fva v
30 1295 |00se0|oommo oo [0 [0 [0 walwalvafva
- | ool losm 0 [0 [0 [0 wavalva
- | [oeseofooszo a0 12 [0 [0 [0 Jo |wajwa
~r 8%70 83% - O |0 [0 |0 |0 |0 |vA
~ 88530 gggso - NA O O[O [0 O [0
- | [oteofomeo | NA INVA O |0 |0 |0 O
~ g?goo g?goo - NA INVAIVAIO |O O[O
N va [wa valvalo o o
- oo loeess | va [wa valvalvalo o
- S A WA A vava valo
NAZSET

22

JAPANESE



N/A - IN/AIN/A INJA |N/A

BRI —% FR-HEL-HIK
== B
g%é %% 75 | 90 | 110 | 132 | 160 | 185 | 220 | 250 | 280 | 315 | 355
Fof| EF
N O S 7N Y T Y Y T S O
o Ik wlo o va [wva Jwa [va fva [wva Jwa |va fva
B o o N N S N T Y N
o0 sy 1o o va wa [va [wva A [wa |wa
ek lo o S Y T N S Y Y

o o

o

T60K (185K |/ VA VA VA N/A

O|lO0|lO0]O|0]0O

180K 220K va [wa NA VA NVA

OOl O0]O|0]0O

N/A|N/A - IN/A O N/A - IN/A

OlOlO]lO|0O]| O

250K 1280K h/nInva A IvA o o |wa

©) ©) O
N/A5ZE3 L

OO0 O|0]0O

280K 315K /A IwA [wa [vA

Ol0]0O0]10]0
OlO0[O| O

-+ FR-A700 8K UFR-F700 E DA EHLE TEAT BHE(F. RREBEIC, SBHETEE
ELTULSR Rz BT L T< IS0,

BWRHERRICDOWT
UTP 50 RINADERIE BB TERSNEA U N—A2DBEICHED. UL
SREDIK VIR, AEESH T ZFEALTIZS0,
EBHFE MFA—HEROEBIEICTEBL TS,
BIRDFBE AL National Electrical Code(Article 310) #&8RL T2
=0 National Electrical Code(Article 430) [CHEWEIEERBD 125%
EHFBTCEDBRYAXARELTLZS0,

23



IER2 BMIETICH T S LD DEEFR

BRiED & (3. EUMBEOERIOMEE#H—L. EURTREMNRIESN
IRROFEEBRICT BN TRATSNIIBITT. 1996 FICLRIIE
SO—DTH S EMCIED\DESTANENICEBNT SN TOET, &
fo. 1997 EDBEEIIESD—D THBEBEISS\DES LHEHICHH
FFENTLET. EMCHEDBLV. BBEEIICESL TOBEMES
NRHHURICE. WEENE5EEEESL. " CEV—2" #XRI S
PENBYET,

- EUBIRNRTEEEE
EUIBIRRFTEEEZB T T2DRBY T,
S22 Mitsubishi Electric Europe B.V.
PR : Mitsubishi-Electric-Platz 1, 40882 Ratingen, Germany

JAPANESE

1 EEEESICOVT
SHIVN=R/AVN—B2ONERE L TEEEEIN\DOBESZBCES
LIcUPHO BRI CEXN—DZREURTE T,

- RSB EES 1 2014/35/EU
- LIRS - EN61800-5-1

2. BT LEDEEEIE

- RY PO RUIEERFESS (Open type product) T,
SERE2OBIB TEAT BHREEIP2X EOBRRICY Po RILAESRE
TL1IZS 0
SEREIDBIB THERT 58PS AL EOBRIC PH RIUAHREBL
TLEEL,

3. EEfRRLEDIEEE

- UPORVSHERICERL T IZS0,

- EHWIROERIE. TIAVE (BBHESIBVAVFTHEILE) BO
EERTZEAL TS RIYMOEFICE. RIWEESEOLD
(ERL TS IZS b,

- IR (CEERERL T IZS O (1 DDIRFIC 2 AL OB L7
LT IEE),

- UPORILOAENDOERIFENC0204-1 F1clEIEC60364-5-52 (CHE
SNICIRE, BEZHEOIESO,

4. FRMROHSHER IC DWW T

- RYUPHRIVEERINROHSESNDBEEZES L. P2 ~IUICCE
N—O7HBIYNFET,

L

24



11823 FAC ICDWV T D EEEIE

EL

EAC SR LICESBICIE. EACY—0%2RRLTOWE T,
ZEFHRMNIED EB—TT, BIKERIBZD [BRINIEDICHT B1CHDE

%?EJ%%%LT<ﬁéUO

¥ EACY—o &l

2010FICOYP., NIW—Y, AP TRAVIBICHENWT, BROBELES

12FSIETH. MRORFFH2M—I5E T KEGREBICLDRE

BB E L TERABRIMREL & L.

COBKRER Iy BIORBT 22 %IE CU-TR (Custom-Union Technical

Resulation) : BIRBEIERAFERINES L. EACN—0% X~ T 2NBH'HY F 7,

KAVUN—RDEED. BEFERBNERAEH KO CUBIRERTETE (&

AB) FFEDLDICBYET,

- AEEXR

U5 RIVDOERRIR (2N—2888) CTHRIEETT,

A MADE IN JAPAN
- BIEEH

UP5RIVDOEERR (2N—28R) ICRHESNTOSBSERIAL (B8
EIS) HOHERIYRETT,
- CUBIRRFTEEES (|AE)
CUBIRRGEEE (@AE) [FFeD@Y T,

S22 Mitsubishi Electric (Russia) LLC

PR 52, bld 1 Kosmodamianskaya Nab 115054, Moscow, Russia
&5 . +7 (495) 721-2070

FAX : +7 (495) 721-2071

25



113R4 FEZEILZICE D  SHRAE
FERE FEOPERICH > TREBEL THYF T,

B|ikZe  GB/T 12668.501

11285 REFA#IEN DEE

FEHBEEET SREZORMINERERNDESZES L
UKCAY =072 RRLTOET,

BERMAFERNED ER—TT . BIRGRBESO [FINE
FRIHDERER] ZERL TS0,

D UKCAY—o &

UK
"CA

20201 B31 BOHEHED EU BARICHN 2021 &1 BH5OL—rTUFVE (1Y
SR, Dx—)VX R3OV ESVR) /\iﬁiéﬂéd@mtbﬁﬁﬁénﬁ%l@? Fv

0‘?60

26

JAPANESE



R 5] B &
KEIRGHAZTES(E. AHRASOERMOE MIHEHL THY T,

HETEH KRR ES T "R %

&

20044%38 IB(%)-0600183-A

Y
=
m
)
=2

2004118 | 1B(%)-0600183-B

ﬁ
=
O

¢I
A
>Jo

EL-

-
~
7(
)
=+ O1
EOY
N

LB

20114%8 R IB(%)-0600183-C

ﬁ
=
O

e
&
i
&
N
N

2013F 4 IB(%)-0600183-D

ﬁ
=
O

EL-75K~ 110K
EL-H75K~H132K

_n
00
II

20134&F 118 | IB()-0600183-E

mﬁm
e
(wm)

R-HEL-H160K~H355K

2014578 IB(%)-0600183-F

ﬁ
=
O

T
o>
i

201564108 | 1B()-0600183-G

||

S
=T
I
aJt
g+

2019&5A8 IB(%)-0600183-H

ﬁ
=
O

BN VN

- BASERICONT
BRINERICR T BIcODIREE
EAC [CDWTDEESEIE

2]

O

2019&8A1 IB(%)-0600183-J

ﬂ
i

- FR-

I

EL-H5.5K. FR-HEL-H160K

20214%F5A8 IB(%)-0600183-K

ﬁ
=
O

c
=

. CULIZDWTOEESBEBGEKIT)
'&M%%Eﬂ@ék&@%%gﬁﬁaQJ
)

%%m@
ESREIAIENAOES

27




Thank you for choosing this Mitsubishi Electric Inverter option.

This instruction manual gives handling information and precautions for use of this equipment. Incorrect
handling might cause an unexpected fault. Before using the equipment, please read this manual
carefully to use the equipment to its optimum.

Please forward this instruction manual to the end user.

This section is specifically about safety matters

Do not attempt to install, operate, maintain or inspect this product until you have read through this
instruction manual and appended documents carefully and can use the equipment correctly. Do not
use this product until you have a full knowledge of the equipment, safety information and instructions.
In this instruction manual, the safety instruction levels are classified into "WARNING" and "CAUTION".

WARNING Assumes that incorrect handling may cause hazardous conditions,
/ \ resulting in death or severe injury.

CAUTION Assumes that incorrect handling may cause hazardous conditions,
A resulting in medium or slight injury, or may cause physical damage only.

Note that even the | /A\ CAUTION | level may lead to a serious consequence according to conditions. Please

follow the instructions of both levels because they are important to personnel safety.

3. Injury Prevention

/A CAUTION

Apply only the voltage specified in the

AWARNING instruction manual to each terminal.

Otherwise, burst, damage, etc. may occur.

e Do not remove the terminal block cover while Ensure that the cables are connected to the
the inverter power is ON, and do not run the correct terminals. Otherwise, burst, damage,
inverter with the terminal block cover etc. may occur.
t’::'r":’ingsa;t&‘: ?:ﬁ;org??:ghp:g?t Y)?Ittﬁg?:ircuitry Always make sure that polarity is correct to
can be touched. Otherwise you may get an prevent damage, etc. Otherwise, burst,
electric shock. damage may occur.

« Any person who is involved in the wiring or While power is on or for some time after power-

inspection of this equipment should be fully off, do not touch the option as it is hot. Doing so

competent to do the work. may cause burns.

Always install the inverter before wiring. Otherwise,

you may get an electric shock or be injured.

* Do not touch the option with wet hands. You

may get an electric shock.

Do not subject the cables to scratches,

excessive stress, heavy loads or pinching.

Otherwise you may get an electric shock.

o Before wiring or inspection, check that the

display of the operation panel is OFF. Any

person who is involved in wiring or inspection
shall wait for 10 minutes or longer after power

OFF and check that there are no residual

voltage using a tester or the like. The

capacitor is charged with high voltage for
some time after power OFF, and it is
dangerous.

A neutral-point earthed (grounded) power

supply must be used for a 400 V reactor to be

compliant with EN standard.

SAFETY INSTRUCTIONS

1. Electric Shock Prevention

2. Fire Prevention

/A\ CAUTION

e Mount the option to non-flammable material.
Mounting it to or near combustible material
can cause a fire.

A-1

ENGLISH



4. Additional Instructions

Also note the following points to prevent an accidental
failure, injury, electric shock, etc. Assumes that
incorrect handling may cause an accidental failure,
injury, electric shock, etc.

(1) Transportation and installation

(2) Trial run

/N CAUTION

/A\ CAUTION

« Before starting operation, confirm and adjust
the parameters. A failure to do so may cause
some machines to make unexpected motions.

When carrying products, use correct lifting
gear to prevent injury. Special attention must
be paid to the edges of the product.

Do not install or operate the option unit if it is
damaged or has parts missing.

Do not stand or rest heavy objects on the product.
Check that the mounting orientation is correct.
Prevent other conductive bodies such as
screws and metal fragments or other flammable
substance such as oil from entering the option.
As the option is a precision instrument, do not
drop or subject it to impact.

Use the inverter under the following
environmental conditions. Otherwise, the
inverter may be damaged.

(3) Operation

/\WARNING

e Do not modify the equipment.

o Do not perform parts removal which is not
instructed in this manual. Doing so may lead
to fault or damage of the inverter.

(4) Disposal

/A\ CAUTION

* Treat as industrial waste.

(5) General instruction

All illustrations given in this manual may have
been drawn with covers or safety guards
removed to provide in-depth description.
Before starting operation of the product,
always return the covers and guards into
original positions as specified and operate the

equipment in accordance with the manual.

Surrounding | _4q0¢ to 50°C
- ?«;:nperature (non-freezing)
S [Ambient 90% RH or less
g humidity (non-condensing)
o |Storage o o
S [temperature -20°C to 65°C *1
5 Indoors (free from corrosive
Atmosphere |gas, flammable gas, oil mist,
dust and dirt)
. Maximum 3000m
Cilltal::t(ii::l 5.9m/s? or less at 10 to 55Hz
(directions of X, Y, Z axes)*2

*1 Temperature applicable for a short time, e.g. in
transit.

*2 For the installation at an altitude above 1000 m
up to 3000 m, consider a 3% reduction in the
rated current per 500 m increase in altitude.

If halogen-based materials (fluorine, chlorine,
bromine, iodine, etc.) infiltrate into a Mitsubishi
Electric product, the product will be damaged.
Halogen-based materials are often included in
fumigant, which is used to sterilize or disinfest
wooden packages. When packaging, prevent
residual fumigant components from being
infiltrated into Mitsubishi Electric products, or
use an alternative sterilization or disinfection
method (heat disinfection, etc.) for packaging.
Sterilization of disinfection of wooden package should
also be performed before packaging the product.
Any person who is opening a package using a
sharp object, such as a knife or cutter, must
wear gloves to prevent injuries caused by the
edge of the sharp object.

Do not stack the boxes containing products
higher than the number recommended.

During installation, caution must be taken not to
drop the reactor as doing so may cause injuries.
The product must be installed on the surface
that withstands the weight of the product.

A-2




Contents

1 Product ChecKing........coccriiiiimimimnniissis s ssssssss s 2
2 Installation ........cooveeriiierr e ————— 3
3 WIKING oo e 4
4 Cable Size and Crimping Terminal ........ccccccccemmrririmnniissscccccsnneeene 5
5 Specifications ... 7
6 Outline DIMension Drawings ........ccoecvrriiicnmee e sssees 8
APPENDIX ... o eie e e e seme e e s e e s e n e nn s 20

ENGLISH



Product Checking \i

1 Product Checking

(1) Unpack the option unit, and ensure that the product received is as you
ordered and it is intact.

* For the 400 V class,

Amnsumsm DC REACTOR
ELECTRIC
wopel._ FR-HEL-[JTJK BKO-CAXXXXHXX is indicated.
*2 | DCXXXV (max) XXXA XXXmH
*3 | SERIAI

MITSUBISHI ELECTRIC CORPORATION  MADE TN XXXXX

—— > FR-HEL- H [ ][ K
Applied motor capacity (kW)
Symbol | Applied Power Supply Voltage
None 200V class
H 400V class
*2  The rated voltage is the maximum voltage appearing between P and N terminals of the
applicable inverters, not applied voltage to this reactor (P and P1)
*3  The SERIAL consists of the control symbol, production year, production month, and control
number. The indication of SERIAL differs depending on the model. Check the SERIAL,
which is indicated in one of the following ways.

e Example 1 (FR-HEL-0.4K to 55K, FR-HEL-H0.4K to H55K)

00 00 O 0000
Control symbol  Year Month Control number
SERIAL

The last two digits of the production year are indicated as the Year, and the Month is indicated
by 1to 9, X (October), Y (November), or Z (December).

e Example 2 (FR-HEL-75K to 110K, FR-HEL-H75K to H355K)
oo O 0-000
Year Month Control number
SERIAL
The last two digits of the production year are indicated as the Year, and the Month is indicated
by 1 to 9, X (October), Y (November), or Z (December).

(2) Make sure that the package includes all accessories.

Terminal block cover ....... 1
I?EF{_e:Etc;r 1 (200V class 15K or lower, | Instruction manual .......... 1
"""""""""""" 400V class 55K or lower)*

*The terminal cover for the 200V class 15K or lower is provided on the terminal block.




7/ Installation

2 Installation

(1) Install the reactor according to the following directions. The environment
conditions specified on page 7 must also be met. Installing the reactor in
an unspecified direction will damage the reactor.

« (H)55K or lower: horizontal installation or vertical installation
« (H)75K or higher: horizontal installation

(2) Take full caution not to make the surrounding air temperature higher than
the permissible value (-10°C to +50°C). In addition, as the reactor itself
generates heat, leave sufficient clearance around it. (Take 10 cm or
more clearance on top and bottom and 5 cm or more on left and right
regardless of the installation direction.)

==

(3) When designing or building an enclosure for the reactor, carefully
consider influencing factors such as heat generation of the contained
devices and the operating environment.

ENGLISH



Wiring \%

3

Wiring

(1)

Remove the jumper across terminals P and P1 of the inverter and
connect the reactor.

« Minimize the connection cable between the reactor and inverter so that the
length is within 5m. (For the size of the cable, refer to page 5.)

« The jumper connected across terminals P1 and P must be removed.
Otherwise, the reactor will not exhibit its performance.

« When wiring, remove the terminal block cover. After wiring, reinstall the
terminal block cover. (The 200V class 18.5K or higher and the 400V class
75K or higher do not have terminal block covers.)

MCCB MC
3-phase AC ~ et o — ©ORI/L1
power supply ~ 1 s 1 o1 ©S/L2
e T OTAS Inverter

()

©)

——— CAUTION

1.

E

When using a model equipped with

a jumper across terminals P1 and P, _*==J=========-F:" _
remove the jumper. The connection cable

--------- should be 5m maximum.

Make selection according to the applied motor capacity. (When the
inverter capacity is larger than the motor capacity, make selection
according to the motor capacity.)

For a motor of less than 0.4kW, choose the option designed for 0.4kW.
For single-phase power input, choose the reactor one rank higher than
the motor capacity.

Securely earth (ground) the reactor using the earth (ground) terminal.
(Refer to page 5 for the cable and crimping terminal sizes, and page 8 for
the position of the earth (ground) terminal.)

After wiring, make sure that the terminal block cover has been
reinstalled securely.

Do not perform wiring while power is on and the inverter is running.
Any person who is involved in the wiring of this equipment
should be fully competent to do the work.

Since high-voltage is applied to the inverter terminals P1, P and N,
fully make sure that the input power is off and the voltage across
terminals P and N is not exceeding 30 VDC before performing wiring.
The terminal block is not provided for the 200V class 18.5K or
higher and the 400V class 75K or higher.

Provide isolation treatment to avoid contact of terminals.




5/ Cable Size and Crimping Terminal

4 cable Size and Crimping Terminal

Refer to page 4 for the wiring of terminals P and P1 and the earthing cable.
(1) 200V class

P, P1 Earth (Ground) Cable
Gabl Cab
i i i -~ able i i i I able
FROHELIK S| Mo | Gmprg| S | A0 | St "™ g s
Size Nem (mm?) Size Nem (mm?2)
*2 *2
04t022 |(M4 1.5 2-4 2 14 M4x8 1.5 2-4 2
3.7 M4 1.5 5.5-4 3.5 12 M4x8 1.5 5.5-4 35
5.5 M4 1.5 5.5-4 5.5 10 M4x8 1.5 5.5-4 55
7.5 M5 2.5 14-5 14 6 M4x8 1.5 5.5-4 5.5
11 M6 3.8 14-6 14 6 M6%x12 |3.8 8-6 8
15 M6 3.8 22-6 22 4 M6%x12 |3.8 14-6 14
18.5 M8 13.21 38-8 38 2 M6%x12 |3.8 14-6 14
22 M10 26.5"1 38-10 38 2 M6%x12 |3.8 22-6 22
30 M10 26.5"1 60-10 60 1/0 M6%x12 |3.8 22-6 22
37 M10 26.5%1 80-10 80 3/0 M6x12 |3.8 22-6 22
45, 55 M12 46.1*1 100-12 |100 4/0 M6x12 3.8 38-6 38
75 M12 46.1"1 150-12 |125 250 M6 4.4 38-6 38
90 M12 46.1*1 150-12  |150 300 M6 4.4 38-6 38
110 M12 46.1*1 100-12 |2x100 2x4/0 |M6 4.4 60-6 60

x]1  Torque value (reference value) for the iron screws with the 4.6 strength rating. Use the
tightening torque recommended for the applied screw (bolt).

*2  This cable gauge is with the continuous maximum permissible temperature of 75°C (HIV
cable (600 V class 2 vinyl-insulated cable), etc.). Assumes that the surrounding air
temperature is 50°C or less and the wiring distance is 20 m or less.

*3  This cable gauge is with continuous maximum permissible temperature of 75°C (THHW
cable). This assumes a surrounding air temperature of 40°C or lower and in-enclosure
wiring. (For the use in the United States or Canada, refer to Appendix 1 Instructions for UL
and cUL.)

ENGLISH



Cable Size and Crimping Terminal

X

(2) 400V class

P, P1 Earth (Ground) Cable
Cab Cab
i i i I able i i i - able

FRHELIK| T | Morquer® | Simping | ‘Ss’ | Tt | Morane® | Crmeing | Sizg

Size Nem (mm2) Size Nem (mm2)

*2 *2

0.4 M3.5 1.2 2-3.5 2 M4x8 1.5 2-5 2
0.75t02.2 |[M3.5 1.2 2-3.5 2 M4x8 1.5 2-4 2
3.7 M4 1.5 2-4 2 M4x8 1.5 2-4 2
55,75 M4 1.5 5.5-4 3.5 M5x10 2.5 5.5-5 3.5
1 M5 2.5 5.5-5 5.5 M5x10 2.5 5.5-5 5.5
15 M6 4.4 8-6 8 M5x10 2.5 5.5-5 55
18.5 M6 4.4 14-6 14 M5x10 2.5 8-5 8
22, 30 M6 4.4 22-6 22 M5x10 2.5 14-5 14
37 M8 7.8 22-8 22 M5x10 2.5 14-5 14
45 M8 7.8 38-8 38 M5x10 2.5 22-5 22
55 M8 7.8 60-8 60 M6x12 3.8 22-6 22
75 M12 46.1*1 60-12 60 M6 4.4 22-6 22
90 M12 46.1*1 80-12 80 M6 4.4 22-6 22
110 M12 46.1*1 80-12 80 M6 4.4 22-6 22
132 M12 46.1*1 100-12 100 M8 7.8 38-6 38
160 M12 46.1*1 150-12 150 M8 7.8 38-6 38
185 M12 46.1*1 150-12 150 M8 7.8 38-6 38
220 M12 46.1*1 100-12 2x100 M8 7.8 60-6 60
250 M12 46.1*1 125-12 2x125 M8 7.8 60-8 60
280 M16 110*1 125-16 2x125 M8 7.8 60-8 60
315 M16 110*1 150-16 2x150 M8 7.8 60-8 60
355 M16 110*1 200-16 2x200 M8 7.8 100-8 100

x1  Torque value (reference value) for the iron screws with the 4.6 strength rating. Use the
tightening torque recommended for the applied screw (bolt).
*2  This cable gauge is with the continuous maximum permissible temperature of 75°C (HIV
cable (600 V class 2 vinyl-insulated cable), etc.). Assumes that the surrounding air
temperature is 50°C or less and the wiring distance is 20 m or less.



3/ Specifications

5 Specifications

Power supply power factor approx. 93% (94.4%)
(at 100% load)
200V class | Three-phase 200 to 240VAC 50Hz/60Hz

55K or Three-phase 380 to 480VAC
Power specifications lower 50Hz/60HZz

400V class e Three-phase 380 o 500VAC
higher 50Hz/60Hz
Surrounding air

temperature -10°C to + 50°C (non-freezing)

Ambient humidity |90%RH or less (non-condensing)
Storage temperature [-20°C to + 65°C (non-freezing)
Indoors (free from corrosive gas, flammable gas, oil
mist, dust and dirt)

Altitude/vibration |Max. 3000m, 5.9m/s? or less *2 at 10 to 55Hz

(directions of X, Y, Z axes)

1 The power factor is calculated on the assumption that the power impedance is 1%. The value
changes according to the power supply capacity and power impedance. The load is
calculated using the fundamental current specified in JEM-TR201 as 100%.

The value is 94.4% when calculated with 1 power factor for the fundamental wave according
to the Architectural Standard Specifications (Electrical Installation) (2013 revision) supervised
by the Ministry of Land, Infrastructure, Transport and Tourism of Japan.

For a motor of less than 0.4kW, the power factor improving effect will be slightly lower.

For single-phase power input, the power factor improving effect will be slightly lower.

*2 For the installation at an altitude above 1000 m up to 3000 m, consider a 3% reduction in
the rated current per 500 m increase in altitude.

Power factor improving effect *1

Atmosphere

Environment

ENGLISH



Outline Dimension Drawings

6 Outline Dimension Drawings

(1) 200V Class
«FR-HEL-0.4K to 2.2K

Installation screw M4

[ [
: @ P P 5l
A -
. @l
Terminal screw M4 Earth (ground) terminal
" M4x8 MaxD *1
D1
22 2=,
= I % A=ca-|
—
=T [ ‘
~|T
I
Rated
Motor
. | current | Inductance| D Mass
FR-HEL-[IK Ca(l;()\?\;:)lty ez (mH) 1 D1 W Wi1 H H1 H2 (kg)
(A)

0.4 0.4 21 13.7 61 28 70 60 7 61 48 0.34

0.75 0.75 3.6 8.05 61 28 85 74 81 7 59 0.5

15 15 7.3 4.01 70 33 85 74 81 71 59 0.7

2.2 2.2 10.5 2.78 70 33 85 74 81 71 59 0.8

*]1  Maximum size (The size changes according to the bending of the cable.)




3/ Outline Dimension Drawings

FR-HEL-3.7K, 5.5K

Earth (ground) terminal
M4x8

Terminal screw M4

76
55

Installation screw M4 }L i
i g8
Lﬁ‘\ ﬂ/ﬁvﬁ (Unit: mm)
Rated
Motor
: current | Inductance| D Mass
FR-HEL-[IK C?E\%:)lty VElie (mH) 1 D1 D2 D3 (kg)
(A)
3.7 3.7 17 1.7 82 (39 66 |56 14
55 5.5 25 1.16 92 (44 76 |66 1.7

*]1  Maximum size (The size changes according to the bending of the cable.)

ENGLISH



Outline Dimension Drawings

FR-HEL-7.5K

Earth (ground) terminal

M4x8
Terminal screw M5
Max 98 *1
42
=
,,% E %
© ® s | .
SER
[©) © i
86
60
Installation screw M4 } Y
i b
JFLD—U—#L— (Unit: mm)
Motor Capacity | Rated current value | Inductance Mass
(kW) (mH) (kg)
7.5 334 0.86 23

*]1  Maximum size (The size changes according to the bending of the cable.)

10



3/ Outline Dimension Drawings

FR-HEL-11K, 15K

Earth (ground) terminal
M6x12

Terminal screw M6

Max D #*1
D1

©
£

101
H1
H
E—

°) ) | ]
105
64
Installation screw M6 ' '
g8
Uu
(Unit: mm)
Rated
Motor
: current Inductance D Mass
FR-HEL-[IK szlp()\z/a\;:)lty velve (mH) ] D1 D2 D3 H HA1 (kg)
(A)
1 1 481 0.6 112 |47 |92 78 138 [118 |31
15 15 64.7 0.45 115 |49 |97 83 142 |120 |38

*1  Maximum size (The size changes according to the bending of the cable.)

ENGLISH

17



Outline Dimension Drawings

«FR-HEL-18.5K to 55K

]
[
Earth (ground) terminal
M6x12
BJ P Max D *1
% Max D1 *1
- Je_r—=1_e =
I
D ool
@ ® Crimping q i
Terminal
\:\
Installation screw M6
+ 88
A
W1
w (Unit: mm)
Motor | Z5E0 | nauct D | D1 Crimping | M
N . .| current | Inductance rimping | Mass
FR-HEL-[IK Ce(lI;(J\?vc)lty e (mH) | * D2 |D3 | W [W1]| H Terminal | (kg)
(A)
18.5 18.5 79.9 0.36 165 (110 (107 (93 |105 |64 |93 |R22-8 4.1
22 22 95.1 0.3 175 (115 (117 (103|105 [64 |93 |R22-10 (4.8
30 30 1284 |0.23 200 {135|125|100 (114 |72 |100 |R60-10 |6.7
37 37 1574 |0.19 195 (135|115 (97 |133 (86 |[117 |R60-10 (8.1
45 45 189.5 |0.15 205140125107 (133 |86 |117 |[R100-12 |9.4
55 55 2326 |0.13 209|140 (135|121 (153 [126 |132 |R100-12 |11

*1  Maximum size (The size changes according to the bending of the cable.)

12




3/ Outline Dimension Drawings

«FR-HEL-75K to 110K

2-terminal
for M12 bolt
P1 P1

H1
H

‘ W1 ‘ Installation screw ‘

Earth (ground) terminal .
M6 (Unit: mm)

Motor | Bated | et D | Installation |M
. curren nauctance nstallation ass
FR-HEL-[JK szlg()\z/a\;:)lty varoa |l ww | H a5 ingenalon e
(A)
75 75 351 [0.09 150 [130 [340 |310 |190 |M6 17
90 90 219 0.075 150 [130 [340 (310 [200 |M6 19
10 110 510 |0.062 175 [150 400 [365 [200 |M8 20

*] Maximum size (The size changes according to the bending of the cable.)

(2) 400V Class
FR-HEL-HO0.4K

uak G

Installation screw M5 &

B

27

Earth inal
Terminal screw M3.5 arth (ground) termina

M4x8

75
90

Max 60 *1

ENGLISH

64
7

47

c’gl;?atgirty Rated current value Inductance Mass (Unit: mm)
(kW) (mH) (kg)
04 0.9 54.45 0.6

*]1  Maximum size (The size changes according to the bending of the cable.)

13



Outline Dimension Drawings

«FR-HEL-HO0.75K to H2.2K

Installation screw M4

# %
ol © |y
'S & @ Earth (ground) terminal
M4x8
8
Terminal screw M3.5 50 Max D *1
D1
g %@ —
[ YYD |
2T
(@) © I {ﬂ]
W '
(Unit: mm)
Rated
Motor
; current | Inductance | D Mass

FR-HEL-H[IK Ca(E\z,a\;:)lty el (mH) 1 D1[D2|(D3|W | H |H1|H2 (kg)

(A)
0.75 0.75 09 54.45 70 |33 [68 [48 [66 [100 [87 [75 [0.85
15 15 16 32.19 80 [36 |74 |54 |66 [100 [87 [75 [1.0
22 22 3.1 16.04 80 [38 [74 |54 |76 [110 [97 [85 [1.3

*]1  Maximum size (The size changes according to the bending of the cable.)

14




3/ Outline Dimension Drawings

FR-HEL-H3.7K to H7.5K

Installation screw

Earth (ground) terminal

Terminal screw M4
w1
W

J S
] ©
T
(Unit: mm)
Rated
Motor . Earth
. | current |Inductance| D Installation Mass
FR-HEL-H[IK C?E\?\;;)lty V?kj)e (mH) 1 D1(D2 [D3|W |W1| H H1 | H2 et gl%rrcr)#ir:](;% (kg)
37 37 71 6.79 95 (39 (89 (69 (86 (55 (128 (114 |94 [M4 M4x8 |23
55 55 105 [4.62 100 (44 |95 (75 [96 |60 (136 (122 |102 |M5 M5%x10 (3.0
75 75 14 345 105 (47 |100 (80 [96 |60 (136 (122 |102 |M5 M5x10 |35

*]1  Maximum size (The size changes according to the bending of the cable.)

ENGLISH

15



Outline Dimension Drawings

*]

16

FR-HEL-H11K

Terminal screw M5

Installation screw M5

A ¢

icis
L mm@a%

85
105

Earth (ground) terminal
M5x10

5 Max110  *1
105
55
J
B £
=
© = D
S5
© © St D
Motor Capacity Rated current value Inductance Mass | (Unit: mm)
(kW) (mH) (kg)
1 204 2.38 45

Maximum size (The size changes according to the bending of the cable.)



=

Outline Dimension Drawings

«FR-HEL-H15K to H55K

Terminal screw

Installation screw

Earth (ground) terminal

W1
W
Max D *1
D1
o o 1=
s b
e T |
I Iz | |
© © =i D
(Unit: mm)
Rated
Motor f : Earth

. | current | Inductance | D Terminal| Installation Mass
FR-HEL-H[IK C?E\?\’C)Ity v(a/l\u)e (mH) * D1({D2|D3 | W |W1| H | H1 [ H2 s S g[%rr?rl:i?fg (kg)
15 15 275 1.77 125|57 [115 (95 |105 (75 |152 (130 |111 |M6 M5 M5x10 |5
185 185 339 144 120 (55 |100 |80 (114 (75 |162 |140 |121 |M6 M5 M5x10 (5
22 22 40.3 121 12055 (95 |75 (133 |90 |180 |157 (137 (M6 M5 M5x10 |6
30 30 55 0.9 120 (58 |100 |80 (133 (90 |180 |157 |137 |M6 M5 M5x10 (6.5
37 37 67.5 0.73 155|70 (120 {100 |133 (90 |184 (161 |137 |M8 M5 M5x10 (8.5
45 45 81.9 0.6 170|71 |130 {110 |133 (90 |184 (161 |137 |M8 M5 M5x10 |10
55 55 98.7 049 170 (65 |126 |106 {152 (105 |203 |180 |156 (M8 M6 M6x12 [11.5

*] Maximum size (The size changes according to the bending of the cable.)

ENGLISH

17



Outline Dimension Drawings

FR-HEL-H75K, HO0K

2-Terminal

(for M12 bolt)

Installation scre!

M6

P1,

w : Max D *1
Earth (ground) terminal (Unit: mm)
M6
Motor
- Rated current value | Inductance D Mass
FR-HEL-H[IK Ca(lp()\a/a&:)lty (A) (mH) W [ w1 H H1 1 (ko)
75 75 160 0.359 140 |120 |320 |295 |185 16
920 90 191 0.3 150 130 |340 (310 |190 20
*1  Maximum size (The size changes according to the bending of the cable.)
«FR-HEL-H110K to H185K
2-Terminal
(for M12 bolt)
P1
I
Om=
Installation screw Qﬂm@
. Max D *1 |
Earth (ground) terminal (Unit: mm)
M6
Rated
Motor :
: current Inductance D | Installation | Mass
FR-HEL-HIK Ca(l;()evc)lty V?/I\l;e (mH) L e L screw (kg)
110 110 233 0.246 150 |130 |340 (310 (195 |M6 22
132 132 281 0.204 175 (150 (405 |370 (200 (M8 26
160 160 335 0.171 175 |150 |405 |370 |205 (M8 28
185 185 389 0.148 175 |150 |405 (370 (240 |M8 29
*1  Maximum size (The size changes according to the bending of the cable.)

18



3/ Outline Dimension Drawings

«FR-HEL-H220K to H280K

2-Terminal
2-S eye nut* (for @ bolt)
P1 P1
I T
P
P
Om=
I —— @\
EB‘C@D q‘@*ii Installation :@EMMMMM
| W1 | screw
W MAX D 31
Earth (ground)
terminal
* Remove the eye nut after installation of the product. (Unit: mm)
Rated
FR-HEL-H[K Cglpoatgirty current | Inductance | \y | \yq [ p [pq | D |Installation (glfgt?r?d) s | ¢ |Mass
(W) vzl\t.;e (mH) = screw | terminal (kg)
220 220 462 0.124 175 |150 (405 [370 |240 |M8 M6 M6 [M12 |30
250 250 524 0.109 190 (165 |440 (400 |250 |M8 M8 M8 |M12 |35
280 280 585 0.098 190 |165 |440 (400 (255 |M8 M8 M8 |M16 |38

*1  Maximum size (The size changes according to the bending of the cable.)

FR-HEL-H315K, H355K
2-M8 eye nut* 2-Terminal

for M16 bolt

B @7' :EUMH

P1
g
P
Ol

Installation :@ﬂmm
EB = ﬂi screw

185 M10 "
210 Earth (ground) MAX 250"

terminal M8 X
* Remove the eye nut after installation of the product. (Unit: mm)

495

ENGLISH

Motor Capacity | Rated current value Inductance Mass
PROAELADK | ™ aaw) ) (mH) (kg)
315 315 658 0.087 42
355 355 742 0.077 46

*1  Maximum size (The size changes according to the bending of the cable.)

19



APPENDIX

Appendix 1 Instructions for UL and cUL

1. Combination with motors

Select a reactor according to the applicable motor capacity.

If the reactor's capacity is much smaller than the motor capacity, the power
factor becomes poor.

2. Combination with inverters

The FR-HEL series DC reactor is a UL certified accessory that can be used in
combination with an applicable UL certified inverter as shown in the following tables.

(1) 200V class

Applicable inverter model FR-HEL-[[K
[m==]
TO PR | T =
SXEOR2 | § | g | @
oSl CSo®» @ N (=]
NN © | § |04]075/15[22(37(55[75| 11
U oo Q | & i
1 Im 1 D
th ey | & | E g
(T
838" 888" - - 861(')‘8 o |NA [NA [NA NA A A A
Sl A ] s o o N A [Na N a
04K [04K 04K [0.75K [04K
030 025 00046 |00046 loozo |° |° [° |NA |NAINALINIA - INIA
075K [0.75K  [0.75K [15K [0.75K
050 |042 00077 |o0077 looso | |° o o |WA [NA INAINA
T5K 15K TBR 22K [15K
080 070 00105 |00105 foogo |° |° [° |° o [NA [NA INA
22K 22K 22K [37K 22K
110|100 oot67 |oot67 loto |° 1° [° | o o [NANA
37K [3.7K 37K [65K 37K
175 |165 00250 |00250 |o175 |NA 1o e e e o o [NA
55K |55K 55K [7T5K |55K
240|238 00340 |00340 |o2d0 [NA [NA Jofojorjo fo o
75K [75K 75K |[TIK 75K
330 (318 00490 |00490 |0330 |WA [NA INIA fo o jo oo
K [11K K [15K [1IK
470|450 00630 |00630 |oa70 |WA [NA INIAINA o jo oo
T5K 15K 15K [185K [15K
600 580 00770 |00770 |osoo |WVA [NA INAINA INAA oo o
-k (1)8953'3 3(2)530 gﬁg’é‘ NA A [NA INA NA INA [0 o
- - 55550 3(1)550 - NA [NA [NA [NA [NA [NA [NA o
N/A: Not Applicable

20



Applicable inverter model FR-HEL-[K

=

A

Fo |7 T

=208 8 | & | 8

Sl |ISSown| X I I8

SUPSKB| & | & |8 |15(185/ 22|30 |37 | 45|55

WS oo Q| L | ¢ | g

ghgeyE| ¢ | £ | E

[T

KT T I s oo o [N [na [Na [N v [ia

41117'; 41115'3 (1)2)';30 (1)%30 (1)2;0 ° o |NAINAINAINA-INA
15K (1)2570 (1)8757'8 (1)250 o |0 |wa |nva [nva [N

185K [22K  [18.5K
- 00930 00930 loas0 [|° o o o N/A [N/A |NA

' |82
g

2K 30K 22K
Cl 01250 |o1250 fogoo [© [© |° [° o |[NA [NA

i 3??70 g?gm - NA o o 1o o lo o
i ggso gggzo - NvAaNa o 1o 1o o o
- I §I1(60 8?1(50 - NA INa Ina o [0 [0 o
-0 N N N Y Y O
i oo s | [N N [N Na (N o[

N/A: Not Applicable

Applicable inverter model | FR-HEL-]K
:; | e |
SS 8
2L © 75 | 90 | 110
Fo i
45K 55K
02330 02330 ° o |NA
55K 75K A I
03160 03160 ()]
75K —
03800 90K 03800 o o o _I
90K TI0K L (5
04750 04750 >
N/A: Not Applicable |_|J

21



(2) 400V class

Applicable inverter model FR-HEL-H[K
= =252 3= | oo =
e 93| 3% g8 |
5 EI3| 22 (22 | & | 04 |05 | 15 | 22 | 37 [ 55 | 75 | 1
¥ |leig| <o o 4
g LI.ELL &u_ [y w
04K 04K [04K [0.75K [04K
o6 012 |oo023 00023 |oote |° ° o |NAINA - INA - INA - INA
075K 075K [075K 15K 075K
026 022 |oooss |oco3s ooos |° ° ° o VA INA L INA - INA
TBK [Tk 15K 22K 15K
040 (036 |00052 [00052 |0040 |° © ° ° N NA - INA - INA
2K 22K 22K 37K 22K
060 (050 [00083 [00083 |0060 |° © © © © © NA - INA
37K 37K 37K 55K [37K
095 [080 [oo126 |oo126 |ooes |NVA|° ° ° ° ° ° NA
55K [55K [55K 75K [55K
120 [120 |oo170 o170 |o120 WA [NA e e e ° P
75K [TBK 75K [Tk [75K
170|160 |oo2s0 |oo2so |o170 WA [NA L NAL oo ° P
K TR K 15K 11K
20 [230 [00310 |oo3t0 |oozo (VA [NA L INALINA e ° P
;g'g ;gg gggso 33358% 8250 NANA INA NA A o o o
-k Py oK ina na [N A na Na o o
-k 0 oo | A NA A INA [N NA [NA o

/A: Not Applicable

plicable inverter model -HEL-

Ty el FREFECHIK

— =
s 5223z 32 | o
N OSEE|C2 |22 | & | 15| 185|220 |37 |45 55
v el < |z Y
L x| oo [y o

w [T
75K [75K [7TBK [Tk [75K
170 |160 |o0250 [oo2s0 [o170 [0 |VA [NANAINAINA - INA
K TR TR 15K 11K
20 [230 [oo310 foosto fozzo [© [0 [NA [NA [NA INA INA
5K 15K 15K 185K 15K
30 [205 |oo3so |oozso ozoo [° [0 [° |NVA |NA INA INA
— B 2K 85K | 1o 0 o A INa A

- - ] o o o o NA |NA

" [ oor7o Joor70 | o o o fo Jo fo [NaA
0 gggso gggso - NA o o o Jo o o
-0 ?)?1‘60 2?1K60 - NA INA fo o fo o o
-0 g??oo 6?200 - NA INA [NA Jo o o o
0 gg:(eo gglfeo . NA [NA [NA [NA o |0 o
-0 gggoo (1)12?;'30 - NA INA [NA NA NA o o
- (1)132';0 - - NA |NA  [NA [NA [NA [NA [o

N/A: Not Applicable

22




Applicable -HEL-|
inverter model IAREAIELAAT

(e}
§§5§ 75 | 90 | 110 | 132 | 160 | 185 | 220 | 250 | 280 | 315 | 355
o

o N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A

o o N/A N/A N/A N/A N/A N/A N/A N/A N/A

o o ) N/A N/A N/A N/A N/A N/A N/A N/A

o o o o N/A N/A N/A N/A N/A N/A N/A

o o o o o N/A N/A N/A N/A N/A N/A

o o o o o o N/A N/A N/A N/A N/A

N/A o o o o o o N/A N/A N/A N/A

N/A N/A o o o o o o N/A N/A N/A

N/A N/A N/A o o o o o o N/A N/A

N/A N/A N/A N/A o o o o o o N/A

N/A N/A N/A N/A N/A o o o o o o
/A: Not Applicable

-When using the reactor in combination with the FR-A700 or FR-F700
inverter, the user must verify UL certification of the system in the same way
as before.

3. Applicable wires

For wiring the reactor, use the UL listed copper, stranded wires and round
crimp terminals according to the specifications of the inverter used.

Refer to the National Electrical Code (Article 310) regarding the allowable
current of the cable. Select the cable size for 125% of the rated current
according to the National Electrical Code (Article 430).

23

ENGLISH



Appendix 2 Instructions for compliance with the EU
Directives

The EU Directives are issued to standardize different national regulations of the EU
Member States and to facilitate free movement of the equipment, whose safety is
ensured, in the EU territory.

Since 1996, compliance with the EMC Directive that is one of the EU Directives has
been legally required. Since 1997, compliance with the Low Voltage Directive,
another EU Directive, has been also legally required. When a manufacturer confirms
its equipment to be compliant with the EMC Directive and the Low Voltage Directive,
the manufacturer must declare the conformity and affix the CE marking.

e The authorized representative in the EU
The authorized representative in the EU is shown below.
Name: Mitsubishi Electric Europe B.V.
Address: Mitsubishi-Electric-Platz 1, 40882 Ratingen, Germany

1. Low Voltage Directive

We declare that this reactor conforms with the Low Voltage Directive when used as a
converter/inverter accessory, and affix the CE marking on the reactor.

e Low Voltage Directive: 2014/35/EU

e Conforming standard: EN 61800-5-1

2. Installation precautions

e This reactor is an open type product.
To use the reactor under the conditions of pollution degree 2, install it in the
enclosure of IP2X or higher.
To use the reactor under the conditions of pollution degree 3, install it in the
enclosure of IP54 or higher.

3. Wiring precautions

e Use atinned (plating should not include zinc) crimping terminal to connect the earth
(ground) cable. When tightening the screw, be careful not to damage the threads.

o Wire the earth (ground) terminal independently. (Do not connect two or more cables
to one terminal.)

¢ On the input and output of this reactor, use wires of the type and size set forth in EN
60204-1 or IEC 60364-5-52.

24



Appendix 3 Instructions for EAC

FAL

The product certified in compliance with the Eurasian Conformity has the
EAC marking.

Approval conditions are the same as those for the EU Directives. Refer to
the "Instructions for compliance with the EU Directives" in the Instruction
Manual.

Note: EAC marking

In 2010, three countries (Russia, Belarus, and Kazakhstan) established a
Customs Union for the purposes of revitalizing the economy by forming a
large economic bloc by abolishing or reducing tariffs and unifying regulatory
procedures for the handling of articles.

Products to be distributed over these three countries of the Customs Union
must comply with the Customs Union Technical Regulations (CU-TR), and
the EAC marking must be affixed to the products.

For information on the country of origin, manufacture year and month, and
authorized sales representative (importer) in the CU area of this product,
refer to the following:

« Country of origin indication
Check the rating plate of the product. (Refer to page 2.)
Example: MADE IN JAPAN

« Manufactured year and month
Check the SERIAL number indicated on the rating plate of the product.
(Refer to page 2.)
« Authorized sales representative (importer) in the CU area
The authorized sales representative (importer) in the CU area is shown below.
Name: Mitsubishi Electric (Russia) LLC
Address: 52, bld 1 Kosmodamianskaya Nab 115054, Moscow, Russia
Phone: +7 (495) 721-2070
Fax: +7 (495) 721-2071

ENGLISH

25



Appendix 4 Referenced Standard (Requirement of Chinese
standardized law)
This Product is designed and manufactured accordance with following

Chinese standards.

Electrical safety : GB/T 12668.501

Appendix 5 Compliance with the UK certification scheme
We declare that this product conforms with the related

technical requirements under UK legislation, and affix the K
UKCA (UK Conformity Assessed) marking on the product. U
Approval conditions are the same as those for the EU

Directives. Refer to the "Instructions for compliance with ‘ Q
the EU Directives" in the Instruction Manual.

UKCA marking:
The UKCA marking is used for products sold in the markets of Great Britain (England, Wales,

and Scotland) from January 1, 2021 after the departure of the UK from the EU on January
31, 2020.

26



MEMO

27



MEMO

28



Revision

#*¢The manual number is given on the bottom left of the back cover

Revision Date

*Manual Number

Revision

Mar. 2004

IB(NA)-0600183-A

First edition

Nov. 2004

IB(NA)-0600183-B

Added

* FR-HEL-0.4K to 55k
+ Cable Size and Crimping Terminal

Aug. 2011

IB(NA)-0600183-C

Added
+ Earthing (Grounding) cable size

Apr. 2013

IB(NA)-0600183-D

Added

+ FR-HEL-75K to 110K
* FR-HEL-H75K to H132K

Nov. 2013

IB(NA)-0600183-E

Added
* FR-HEL-H160K to H355K

Jul. 2014

IB(NA)-0600183-F

Added
+ APPENDIX

Oct. 2015

IB(NA)-0600183-G

Edited

* Installation orientation

May 2019

IB(NA)-0600183-H

Added

+ Applicable inverter model

+ Applicable wires

+ Instructions for compliance with the EU
Directives

« Instructions for EAC

Aug. 2019

IB(NA)-0600183-J

Edited
* FR-HEL-H5.5K, FR-HEL-H160K

May 2021

IB(NA)-0600183-K

Added

+ Instructions for UL and cUL (55K or
lower)

+ Instructions for compliance with the EU
Directives (55K or lower)

+ Earth (ground) terminal

+ Compliance with the UK certification
scheme

29



@77 5—%—EXxy NT—7

ZEBHYRT LAY —ERfRASHH4B5R3658BHEH THIOALE T,
@24BRERNY —ERR

O —EXME—BR (SEBH X7 LY —EXBKASH)

y-emas |9 7 LT b eninl EERREE:
Bl=kS-z: @ |7983-0013 | {UIEMBHEBRPH1-5-35 (022)353-7814 (022)353-7814
|jt?§ﬁ§f§ @ |T004-0041 |HLIRTIERIX ABHER2-1-18 (011)890-7516 (011)890-7516
RREERA © |T108-0022 | RRMBBEXE#3-9-15 (03)3454-5521 (03)5440-7783
B ISy —ERRF—y 3V | @ |T224-0053 | RMHAKHIHI963-1 (045)938-5420 (045)935-0066
BHES Y —ERRT—Y 3 ® |T338-0822 | s\ icF MK DE2-21-10 (048)859-7521 (048)858-5601
FoRME Y —EXRT Y3y @ T950-0087 |¥rRmPRXFAE2-4-10 (025)241-7261 (025)241-7262
BBzt @ |T461-8675 | 2EEMRK KDBE5-1-14 (052)722-7601 (062)719-1270
B —EXRT -y 3V T 422-8058 | B@HIX PRE77-2 (054)287-8866 (527164337 (064)287-8484
JEpERIE © |[7920-0811 |&RM/IRF 255 (076)252-9519 (076)252-5458
[ElzpEad @ |7531-0076 | ABRAIELEASRP1-4-13 (06)6458-9728 (06)6458-6911
R —ERRT—Y3Y @ |T612-8444 | RBARRX TBBPSHS (075)611-6211 (075)611-6330
BRI —ERART Y3 @ |T670-0996 | Mg A +1112-234-1 (079)269-8845 (079)294-4141
POEZRA ® |T732-0802 | E&MmEXAINA-3-26 (082)285-2111 (082)285-7773
AU —ERRT—Y 3> T700-0951 | @WHALXBP606-8 (086)242-1900 (086)242-5300
nEx%E @ |T760-0072 | BtarTEE®1-9-38 (087)831-3186 (087)833-1240
pariis-zi @ |T812-0007 |E@mMmiE%XkLE3-12-16 (092)483-8208 (092)483-8228

ABASA P [HEB2H] 1

BEEBRR P 78 —H —E Rl

(052)719-4333

*1¥B8: 9:00~19:00. %8 (=B#HEB) : 9:00~17:30

#*2 ¥B: 19:00~2 9:00. B (=BMKB) : 2465

30




@/ O0—/NILFAtE > & —

@ L#BFAL 52—
MITSUBISHI ELECTRIC AUTOMAITON
(CHINA) LTD. Shanghai FA Center
Mitsubishi Electric Automation Center,
No.1386 Hongaiao Road. Shanghai. China
TEL. 86-21-2322-3030 FAX. 86-21-2322-3000 (96114#)

@tEFAL > 2 —
MITSUBISHI ELECTRIC AUTOMATION
(CHINA) LTD. Beijing FA Center
5/F, ONE INDIGO, 20 Jiuxianaiao Road
Chaoyang District, Beijing, China
TEL. 86-10-6518-8830FAX. 86-10-6518-
2938

QK EFAL 72—
MITSUBISHI ELECTRIC AUTOMATION
(CHINA) LTD. Tianjin FA Center
Room 3203 City Tower, No.35, Youyi Road,
Hexi District, Tianjin, China
TEL. 86-22-2813-1015 FAX. 86-22-2813-1017

OLMFAE > 2 —
MITSUBISHI ELECTRIC AUTOMATION
(CHINA) LTD. Guangzhou FA Center
Room 1609, North Tower, The Hub Center,
No.1068, Xingang East Road, Haizhu District,
Guangzhou, China
TEL. 86-20-8923-6730 FAX. 86-20-8923-6715

O@BEFAL 5 —
MITSUBISHI ELECTRIC AUTOMATION
KOREA CO., LTD.
8F. Gangseo Hangang Xi-tower A, 401,
Yangcheon-ro . Gangseo-Gu, Seoul 07528,
Korea
TEL. 82-2-3660-9630 FAX. 82-2-3664-0475

AdtFAE > & —

SETSUYO ENTERPRISE CO., LTD.

3F. No.105, Wugong 3rd Road, Wugu District,
New Taipei City 24889, Taiwan

TEL. 886-2-2299-9917 FAX. 886-2-2299-9963

@EFFAL 2 —
MITSUBISHI ELECTRIC TAIWAN CO.,LTD.
No.8-1. Industrial 16th Road. Taichung
Industrial Park, Taichung City 40768 Taiwan

TEL. 886-4-2359-0688 FAX. 886-4-2359-0689@1 > K -

@5 1FAtL 54—
MITSUBISHI ELECTRIC FACTORY
AUTOMATION (THAILAND) CO., LTD.
101, True Digital Park Office, 5th Floor,
Sukhumvit Road, Bangchak, Phra Khanong,
Bangkok 10120, Thailand
TEL. 66-2092-8600 FAX. 66-2043-1231-33

@77 FAtL & —
MITSUBISHI ELECTRIC ASIA PTE. LTD.
307, Alexandra Road. Mitsubishi Electric
Building, Singapore 159943
TEL. 65-6470-2480 FAX. 65-6476-7439

@1 FXITFAE 2 —
PT. MITSUBISHI ELECTRIC INDONESIA
Cikarang Office
JI. Kenari Raya Blok G2-07A Delta Silicon 5,
Lippo Cikarang - Bekasi 17550, Indonesia

@)/ {FAE>Z—
MITSUBISHI ELECTRIC VIETNAM COMPANY
LIMITED Hanoi Branch Office
6th Floor, Detech Tower, 8 Ton That Thuyet
Street, My Dinh 2 Ward, Nam Tu Liem District,
Hanoi, Vietnam
TEL. 84-24-3937-8075 FAX. 84-24-3937-
8076

@x*x - ELFLAFAL & —

MITSUBISHI ELECTRIC AUTOMATION, INC.
Monterrey Office

Plaza Mirage, Av. Gonzalitos 460 Sur, Local
28, Col. San Jeronimo, Monterrey, Nuevo
Leon, C.P. 64640, Mexico

TEL. 52-55-3067-7521

@x*X 0 74 FAE %

OF—FIFALL2—
MITSUBISHI ELECTRIC VIETNAM COMPANY
LIMITED
Unit 01-04, 10th Floor, Vincom Center, 72 Le
Thanh Ton Street, District 1, Ho Chi Minh City.
Vietnam
TEL. 84-28-3910-5945 FAX. 84-28-3910-
5947

@1 N JxFAtL> 42—
MITSUBISHI ELECTRIC INDIA PVT. LTD.
Pune Branch
Emerald House, EL -3, J Block, M.I.D.C

Bhosari, Pune - 411026, Maharashtra, India @77 -

TEL. 91-20-2710-2000 FAX. 91-20-2710-2100

@1 K- JINHALFALL &~
MITSUBISHI ELECTRIC INDIA PVT. LTD.
Gurgaon Head Office
3rd Floor, Tower A, Global Gateway, MG
Road, Gurgaon - 122002 Haryana, India
TEL. 91-124-673-9300 FAX. 91-124-673-9399

@1 K N HA-IFAE 2~
MITSUBISHI ELECTRIC INDIA PVT. LTD.
Bangalore Branch

MITSUBISHI ELECTRIC AUTOMAT\ON INC.
Mexico Branch

Mariano Escobedo #69, Col.Zona Industrial,
Tlalnepantla Edo. Mexico. C.P.54030

TEL. 52-55-3067-7511

@75 UIFALL & —

MITSUBISHI ELECTRIC DO BRASIL
COMERCIO E SERVICOS LTDA.

Avenida Adelino Cardana, 293, 21 andar,
Bethaville, Barueri SP, Brazil

TEL. 55-11-4689-3000 FAX. 55-11-4689-3016

KT oFLFAE 2 —

MELCO CNC DO BRASIL COMERCIO E
SERVICOS S.A.

Avenida Gisele Constantino, 1578, Parque
Bela Vista - Votorantim-SP, Brazil

TEL. 55-15-3023-9000 FAX. 55-15-3363-9911

OHMFAL > % —

MITSUBISHI ELECTRIC EUROPE B.V. Polish
Branch

ul. Krakowska 50, 32-083 Balice, Poland
TEL. 48-12-347-65-81

Prestige Emerald, 6th Floor. Municipal No. 2, @K1 YFAt>%—

Madras Bank Road. Bangalore - 560001,
Karnataka. India
TEL. 91-80-4020-1600 FAX. 91-80-4020-1699

@1 K -Fr FAFAE 2~
MITSUBISHI ELECTRIC INDIA PVT. LTD.
Chennai Branch
Citilights Corporate Centre No.1, Vivekananda
Road, Srinivasa Nagar, Chetpet, Chennai -
600031, Tamil Nadu, India
TEL. 91-44-4554-8772 FAX. 91-44-4554-8773

— XA 4N— FFAt > %2 —

MITSUB\SHI ELECTRIC INDIA PVT. LTD.
Ahmedabad Branch

B/4, 3rd Floor, SAFAL Profitaire, Corporate
Road, Prahaladnasgar, Satellite, Ahmedabad -
380015, Gujarat, India

TEL. 91-79-6512-0063

@K1 Nb—IFAZ—
MITUBISHI ELECTRIC INDIA PVT. LTD.
Coimbatore Branch
2nd Floor, Door No.1604, Trichy Road, Near
ICICI Bank, Coimbatore - 641018, Tamil Nadu,
India

TEL. 91-81-2944-5670

@ILKFAE > 2 —
MITSUBISHI ELECTRIC AUTOMATION, INC.
500 Corporate Woods Parkway, Vernon Hills,
IL 60061, U.S.A.
TEL. 1-847-478-2334 FAX. 1-847-478-2253

TEL. 62-21-2961-7797 FAX. 62-21-2961-7794

@71 JELFAE 2 —
MELCO FACTORY AUTOMATION
PHILIPPINES INC
128, Lopez-Rizal St. Brgy. Highway Hills,
Mandaluyong City, MM, Philippines
TEL. 63-2-8256-8042

@4 FYOFAtL 22—

MITSUBISHI ELECTRIC EUROPE B.V. German

Branch

Mitsubishi-Electric-Platz 1, 40882 Ratingen,

Germany

TEL. 49-2102-486-0 FAX. 49-2102-486-1120
OEEFAL> 2 —

MITSUBISHI ELECTRIC EUROPE B.V. UK

Branch

Travellers Lane, Hatfield, Hertfordshire, AL10

8XB, UK.

TEL. 44-1707-28-8780 FAX. 44-1707-27-8695
@FrIFAt 42—

MITSUBISHI ELECTRIC EUROPE B.V. Czech

Branch

Pekarska 621/7, 1565 00 Praha 5, Czech

Republic

TEL. 420-255-719-200

@12 UTFAt> 2 —

MITSUBISHI ELECTRIC EUROPE B.V. ltalian
Branch

Centro Direzionale Colleoni - Palazzo Sirio,
Viale Colleoni 7, 20864 Agrate Brianza (MB),
Italy

TEL. 39-039-60531 FAX. 39-039-6053-312

@O TFAEY 42—

MITSUBISHI ELECTRIC (Russia) LLC St.
Petersburg Branch

Piskarevsky pr. 2, bld 2. lit "Sch", BC "Benua".
office 720; 195027, St. Petersburg, Russia
TEL. 7-812-633-3497 FAX. 7-812-633-3499

MITSUBISHI ELECTRIC AUTOMATION, INC. @ L aFAtL % —

Queretaro Office

Parque Tecnologico Innovacion Queretaro
Lateral Carretera Estatal 431, Km 2 200, Lote
91 Modulos 1y 2 Hacienda la Machorra, CP
76246, El Marques, Queretaro, Mexico

TEL. 52-442-153-6014

MITSUBISHI ELECTRIC TURKEY A.S.
Umraniye Branch

Serifali Mahallesi Nutuk Sokak No:5, TR-
34775 Umraniye / Istanbul, Turkey

TEL. 90-216-526-3990 FAX. 90-216-526-3995

317



=ESHAET > N—4%

BEVWEDEETREAESE

=F EREFA IR
o BEEEHATHRERO 2T/ AE~£MR 9:00~19:00. 18 - HiE - #A 9:00~17:00

e BEES BEEARD FRES 2
FREET 052-712-2444 —
TN [ FREQROL YU —X | 052:722-2182 3

BEOVESHEORRICIE. S—EESFBESZDEN DD L. BEHTEEODLBOKIDOBBEOELF T,
*1 BF BF - EREBOKRD (BEKRED) #/%<
*2 ERBFSOANG BBROXASEOOSBHEANBICETHRIBE. BHADEREISHEROOER
[CHBROWICLET,
BINFAEL 2 — ) DBERWVWEDEERIERMESRL T &0,
Refer to the reverse side for the international FA Centers abroad.

E Z%ﬁﬁﬂ%*i T100—8310RRMBFHEXHNA2-7-3(FRE )

AR ERAD RRBERXAR-30-7MERT 1 v -7 E) (03)5812-1420
ALIRARREXIE = SFE4-1 (LBEE ) (011)212-3793
WETEEXIERR1-1-20(EREX 7 1 7). (022)216-4546
SV - ETRRRHERO1-2BFARAES S VA EHEOE ) (048)600-5845
HBMPRREAR-4-1(Z 2 TE ) (025)241-7227
HEMBERAL &AL V21HERT Y Kv—U47—) (045)224-2623
SRAIEE31-1(&R/S— T E ) (076)233-5502
ZHBHTHXRER-28-12KBHBE L F 2 7) (052)565-3323
EM/|RAE1-5- 10 EEBE L) (0565)34-4112
ABRAALRARET4-20(7 5> 7O hABR 27— A) (06)6486-4119
[REMRRFE7-32(= v A [REE V) (082)248-5345
SHATIFFET1-1-8( B AERERERATE L) (087)825-0072
M RER#2-12-1(RHE L) (092)721-2236

18—V MIEBBHRY—ER [ZEBHFAYIM

SERWAFAY (T BEPEAALOREMRIAL. N—=2 5 27— LGP
EEHMLADEROETRILTOET. Fhe. A/ —BRUEEETZ2 7P
CADF—4FDHYYO— K. e 5= I hEDBRY —E AT AL LT ET.

www.MitsubishiElectric.co.jp/fa

IB(%)-0600183-K(2105) C ORI, 20214658 DFEFTTT. BB, B & LILEREETET 52 L4H ) TTOTITRILE S,



	FR-HEL 取扱説明書
	安全上の注意
	目　　次
	1 製品の確認
	2 据 付 け
	3 配　　線
	4 電線サイズと圧着端子
	5 仕　　様
	6 外形寸法図
	付録
	付録1 UL ､ cULについての注意事項
	付録2 欧州指令に対するための注意事項
	付録3 EAC についての注意事項
	付録4 中国標準化法に基づく参照規格
	付録5 英国認証制度への適合

	改　訂　履　歴
	This section is specifically about safety matters
	1 Product Checking
	Contents
	2 Installation
	3 Wiring
	4 Cable Size and Crimping Terminal
	5 Specifications
	6 Outline Dimension Drawings
	APPENDIX
	Appendix 1 Instructions for UL and cUL
	Appendix 2 Instructions for compliance with the EU
	Appendix 3 Instructions for EAC
	Appendix 4 Referenced Standard (Requirement of Chinesestandardized law)
	Appendix 5 Compliance with the UK certification scheme

	Revision



